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Question 1 (10 marks)

Circle the correct answer. Each item carries one mark.

1. What does Fig. 1.1 show?

Fig. 1.1

A A beaker B A condenser

C A conical flask D A distillation flask

2.  Fig. 1.2 shows a factory releasing carbon dioxide.

By which process does the factory release carbon dioxide?

a

A Combustion B Eutrophication

C Photosynthesis D Respiration
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3. Which one of the following is a greenhouse gas?

A Hydrogen
B Methane
C Nitrogen
D

Oxygen

4.  Which one of the following represents an oxygen molecule?

00, MOC)
c (O® OO

A

5.  Fig. 1.3 shows a water molecule.

How many atoms combine to form a water molecule?

Fig. 1.3
A 2 B 4
c 3 D 6
6. What is the valency of hydrogen?
A 1 B 2
c 3 D 4
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7.  Fig. 1.4 shows a piece of magnesium ribbon burning in air.

Magnesium
ribbon

Bunsen
burner

Fig. 1.4

What is the colour of the flame when magnesium burns in air?
A Blue B Green

C Red D White

8.  Study Fig. 1.5.

Fig. 1.5

Which one of the following can be used to treat a wasp sting?
A Baking soda B Quicklime

C Slaked lime D Vinegar
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9. Which salt is used to make the plaster of Paris, shown in Fig. 1.6?

Plaster of Paris

Fig. 1.6

A Ammonium nitrate B Calcium sulfate

C Magnesium sulfate D Potassium nitrate E

TL
10. What are the products of a neutralisation reaction?

A Acid and base B Acid and salt CE

C Base and water D Salt and water
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Question 2 (9 marks)
(a) Match the symbol of each element to its correct name.

You may use the Periodic Table on page 12.

Symbol Name
N mercury
C hydrogen
Cl nitrogen
H sodium
Hg chlorine
carbon

(b) Complete the following word equations by choosing the correct compound in brackets.

(i) calcium+oxygen ——»

(calcium oxide, calcium chloride)

(i) sodium + chlorine —

(sodium oxide, sodium chloride)

(iif)  sulfur + oxygen —>

(sodium oxide, sulfur dioxide)

(iv) magnesium + sulfuric acid — + hydrogen

(magnesium chloride, magnesium sulfate)

©MES 6
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Question 3 (9 marks)

(a) Identify the effects of global warming shown in each picture below. Fill in the blanks
with the given words or phrases.

Melting of ice-caps Depletion of ozone layer Droughts Flash floods

3]

(b) Circle the two air pollutants from the list below.

CFCs Oxygen Smoke Nitrogen
(2]

(c) Write down whether the statements given below are TRUE or FALSE.

(i) Sewage contains harmful bacteria. (1
(i)  During volcanic eruptions, sulfur dioxide is released. [1]
(i)  Carbon monoxide is a water pollutant. [1 )
(iv) Oil spill is a cause of water pollution. [17 [

CE
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Question 4 (10 marks)

Fig. 4.1 shows a chromatogram of four different food colourings, P, Q, R and S, containing
different dyes.

°
°
°
°
° o baseline
T
P Q R S
Fig. 4.1

(@) (i) How many dyes are present in food colouring P?

[1]

(i)  What shows that dye Q is a pure dye?
[1]

(i)  Why has food colouring S not been separated during chromatography?

[1]

(b) (i) One precaution to be taken during chromatography is to ensure that the spot of the
food colouring to be separated is small. Explain why.

[1]

(i) Give another precaution to be taken during chromatography.

[1]
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(c) Fig. 4.2 shows an apparatus used for the sublimation process.

Cotton wool

Funnel

Mixture

Fig. 4.2

(i)  What is the change of state that takes place during sublimation?

[1]

(i) Give an example of a mixture that can be separated by sublimation.

[1]

(iii)  Why should the narrow end of the funnel be closed with cotton wool in Fig. 4.27?

[11 [|E

(d) Name two insoluble salts. T

1.

CE

2. (2]
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Question 5 (12 marks)

(@)

Write the chemical formula for each of the following compounds.

(i)  Aluminium sulfate

(i) TIron (Ill) nitrate ; (2]

Balance the following chemical equations.

() CaCOs + HCl —» CaCl, + CO + Hz0

(i) CHy + 0O —» CO- + H20

(i) Fe + 0O2 —» Fe203

[3]

An iron nail is placed in a boiling tube containing copper (Il) sulfate solution as shown in
Fig. 5.1.

Boiling tube

Copper (Il) sulfate ——

solution Iron nail

Fig. 5.1

(i) Atthe end of the reaction, a solid is deposited on the iron nail. Name this solid.

(i)  What is the name given to this type of chemical reaction?

©MES 10
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(d) A student investigates the reaction of magnesium with steam. The apparatus is set up
as shown in Fig. 5.2.

Magnesium
ribbon
= Water-soaked
) (@ W wool
Boiling tube Bunsen burner
Fig. 5.2

(i)  Whatis the colour of the solid left in the boiling tube at the end of the reaction?

[1]

(i)  Write a balanced chemical equation for the above reaction.

[2]

(i) The experiment is repeated using a copper strip instead of the magnesium ribbon.
Will a reaction take place? Justify your answer.

[2]

Marks
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